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Guess Paper – 2012
Class – X
Subject – Mathematics
                                                 Applications of trigonometry
Answer the following question:

1. A tree breaks due to storm and the broken part bends so that the top of tree touches the ground making an angle of 300 with it. The distance b/w the foot of tree to the point where the top touches the ground is 8m. Find the height of the tree.
 

2. The angle of elevation of the top of a tower from a point on the ground, which is 30 m away from the foot of tower, is 300. Find the height of the tower.

3. A statue, 1.6 m tall, stands on the top of pedestal. Form a point on the ground, the angle of elevation of the top of statue 600 and from the same point the angle of elevation top of pedestal is 450. Find the height of pedestal.

4. From the top of 7 m high building, the angle of elevation of the top of cable tower is 600 and the angle of depression of its foot is 450. Determine the height of the tower. 

5. The angle of elevation of the top of tower from two points at a distance of 4 m and 9 m from the base of the tower and in the same straight line with it are complementary. Prove that the height of tower is 6 m.

6. From a point on bridge across a river, the angles of depression of the banks on opposite sides of the river are 300 and 450 respectively, if the bridge is at a height of 3 m from the bank, find the width of the river.
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